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[01-04] Choose a synonym of the underlined word.

01 Over time, creative virtuosity became increasingly a male 

preserve. With painting, for example, women became 

confined within particular genres such as portraiture, 

landscapes and still-lives and usually exhibited as amateurs 

rather than as artists.

dispersion ➀ propriety ➁ preceptive➂ 

association ➃ domain➄ 

02 The pejorative sense of the invention of tradition implies 

manipulation and mystification and should not be taken as 

characteristic of traditions in general.

critical ➀ permeable ➁ lucid➂ 

ludicrous ➃ persistent➄ 

03 A certain amount of parental abrasiveness may foster

self-direction and independence in young girls, perhaps 

because it forces the child to assert herself in the 

environment.

avert ➀ suppress ➁ nurture➂ 

dispatch ➃ incriminate➄ 

04 Questions of reliability and robustness of service pervade

the field of digital libraries. The complexity of large 

computer systems exceeds our ability to understand fully 

how all the parts interact.

imbue ➀ peruse ➁ perverse➂ 

pester ➃ repudiate➄ 

[05-10] Choose an antonym of the underlined word.

05 In many organizations decision-making power is highly 

centralized; that is, it flows from the strategic apex, down 

through the middle line of the hierarchy, to the operating 

core.

zenith ➀ crest ➁ pinnacle➂ 

acme ➃ nadir➄ 

06 Although there is ample evidence that flexible working 

hours benefit individuals, they quite possibly could be 

detrimental to the functioning of teams.

abortive ➀ baleful ➁ beneficial➂ 

fortuitous ➃ vicious➄ 

07 The essence of science is the scientific method the ― 

dispassionate development and testing of theories about how 

the world works.

arbitrary ➀ idiosyncratic ➁ biased➂ 

methodical ➃ neutral➄ 

08 Evolutionary change involves incremental modification to 

the organization, and as a consequence, it does not suddenly 

alter the individual's understanding of, or relationship to, the 

organization.

drastic ➀ sporadic ➁ cumulative➂ 

perennial ➃ preposterous➄ 

09 Circuitous communication is used in the desire to protect 

honor and avoid shame.

ambivalent ➀ ubiquitous ➁ 

impertinent➂ palpable ➃ 

forthright➄ 

10 If a person attend a trade school to learn how to repair 

televisions with vacuum tubes and then found this skill made 

obsolete by the invention of solid-state electronics, he would 

end up earning a low wage.

outmoded ➀ superfluous ➁ salient➂ 

indispensable ➃ redundant➄ 

[11] Choose the most logical order of the following 

sentences.

[A] People stop using a local language with few speakers 

and shift to one that has more speakers and is in general 

use over a larger area. [B] All of these mean more contacts 

with people who do not belong to the local environment 

and do not speak the local language. [C] Languages are 

vanishing in all parts of the world, and the course of 

events is similar everywhere. [D] School education is 

expanding in almost all countries, and is usually offered 

only in big languages. Business and communications also 

become more important, which means a larger need for a 

language used by more people. [E] The reasons are similar 

everywhere.

[D] [A] [B] [E] [C]➀ ― ― ― ― 

[A] [D] [E] [B] [C]➁ ― ― ― ― 

[A] [E] [D] [C] [B]➂ ― ― ― ― 

[C] [D] [E] [B] [A]➃ ― ― ― ― 

[C] [A] [E] [D] [B]➄ ― ― ― ― 

[12-21] Fill in the blanks with the best-fitting words.

12 Reading in this manner observing, connecting, ― 

inferring, concluding, and questioning _______ readers to ― 

nuances, to things rendered but not explained or _______ by 

the writer.

alerts elaborated ➀ ― warns duplicated➁ ― 

leads simulated ➂ ― notifies simplified➃ ― 

eludes expounded➄ ― 
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13 Hybridization is an _______ to the cultural differentialism 

of racial and nationalist doctrines because it takes as its 

point of departure precisely those experiences that have 

been _______, marginalized, and tabooed in cultural 

differentialism.

anecdote repatriated➀ ― 

antidote banished➁ ― 

apposition induced➂ ― 

antithesis admitted➃ ― 

annexation evicted➄ ― 

14 It was not too long ago that smoking by adults was not 

viewed as dangerous. Its long-term effects were not visible 

and had not been _______ demonstrated. Then, in 1964, the 

Surgeon General of the United States announced that 

smoking had been proven by scientific research to be 

_______ to health.

thoroughly deranged➀ ― 

tentatively dismissive➁ ― 

significantly physical➂ ― 

conclusively harmful➃ ― 

relatively psychological➄ ― 

15 Malaysia and Singapore in their separate ways illustrate 

the tensions between the _______ language and the 

languages of ethnic and cultural identity. Bilingualism and 

multilingualism will be _______ in both countries for years to 

come.

native uncalled➀ ― 

vernacular necessary➁ ― 

local specified➂ ― 

particular paradoxical➃ ― 

international essential➄ ― 

16 There are three major patterns of global wind movement. 

Each of these takes place between certain lines of _______. 

These lines are imaginary belts that divide the world into 

sections. The _______ is the "belt" around the middle of the 

earth.

atmosphere convection➀ ― 

longitude westerly➁ ― 

latitude equator➂ ― 

layer troposphere➃ ― 

doldrums subpolar➄ ― 

17 Halo errors are evaluations based on the rater's general 

feelings about an employee. The rater generally has a 

favorable attitude toward the employee that _______ all 

evaluations of this person. Typically the rater has strong 

feelings about at least one important aspect of the 

employee's performance. The feelings are then generalized to 

other performance factors, and the employee is judged as 

_______ good.

undergoes particularly➀ ― 

reviews inherently➁ ― 

examines coherently➂ ― 

permeates uniformly➃ ― 

performs primarily➄ ― 

18 The U.S. textile industry was in _______ shape. It could 

no longer compete with the Chinese in the manufacturing of 

yarn. The textile industry lobbied the U.S. government to 

impose quotas and tariffs on goods made in China. The U.S. 

government did impose quotas and tariffs on Chinese textile 

products but only for a limited time. The government gave 

the textile industry a temporary _______ from its global 

economic problems.

poor injunction ➀ ― dire respite➁ ― 

awkward sanction ➂ ― rough collusion➃ ― 

odd revenue➄ ― 

19 It remains to be seen what role virtual technologies will 

play in the conduct of work in the future. Current trends 

indicate they will continue to be implemented, especially in 

global business. The costs of international travel alone make 

virtual work technologies a _______ alternative. It seems 

likely that advances in electronic communication in the 

future will increase our _______ to use virtual work teams. 

The growing body of literature on this topic suggests that 

virtual teams are not a passing fad.

credible nonchalance➀ ― 

reasonable antipathy➁ ― 

viable propensity➂ ― 

feasible enmity➃ ― 

realistic animosity➄ ― 

20 Child laborers are too young to understand the physical 

and psychological hazards they face and are too powerless 

to escape them. The _______ of children around the world 

confronted with extreme family poverty and crime as 

_______ to forced labor has been the subject of major 

initiatives by the United States.

plight precursors➀ ― 

boon repercussion➁ ― 

gaiety aftermath➂ ― 

bliss fallout➃ ― 

status byproducts➄ ― 

21 When the government prevents prices from adjusting 

naturally to supply and demand, it _______ the market's 

ability to coordinate the millions of households and firms 

that make up the economy. This _______ explains why taxes 

adversely affect the allocation of resources: Taxes distort 

prices and thus the decisions of households and firms.

hampers drivel➀ ― 

facilitates fallacy➁ ― 

abates tirade➂ ― 

mollifies byword➃ ― 

impedes corollary➄ ― 
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[22-25] Choose a faulty expression among the five choices.

22 There is something ➀uncanny about the clarity with 

which he ➁recognized his hopeless position, and the calm ➂

which he accepted ➃the inevitable ➄was superhuman in its 

aspect: "I am absent-minded and could not direct my own 

life now."

23 Deviance is any non-conformist behavior which ➀

disapproved of by society or a social group, ➁whether it is 

➂illegal or not. It is ➃norm-breaking behavior, and can 

range from being ➄eccentric to criminal activity.

24 Intelligence is perhaps the most heavily researched 

construct in all of psychology. Interest in the assessment of 

intelligence ➀began more than 100 years ago. ➁Despite the 

length of time the construct of intelligence ➂has assessed, 

however, there ➃remains no singular or standard means to 

assess it. Furthermore, recent research suggests that 

intelligence is ➄even more complex than we have believed.

25 To get one thing that we like, we usually have to give up 

another thing that we like. ➀Making decisions requires 

trading off one goal ➁against another. ➂Consider a student 

who must decide how to allocate her ➃most valuable 

resource her time. She can spend all of her time studying ― 

economics; she can spend all of her time studying 

psychology; or she can divide her time between the two 

fields. For every hour she studies one subject, she gives up 

an hour she ➄used studying the other.

[26-40] Read the following passages and answer the 

questions.

[26-27] There is some evidence that opinion polls might 

not simply reflect voters' opinions, but actually help to 

form and change them, and therefore affect the eventual 

election results. For example, if the polls predict a large 

win for one party, its supporters may not bother to vote, 

thinking that it is a safe seat and the result a foregone 

conclusion. This could possibly result in that party actually 

losing the election if too many of its supporters did this. In 

the 1970 general election campaign, for example, four out 

of five polls predicted that Labour would win by a small 

majority. In fact, the Conservatives won with a majority of 

30 parliamentary seats. The Labour Party thought that its 

lead in the opinion polls might have made the party 

workers and supporters assume they would win the 

election _______ how they conducted their campaign. It Ⓐ

was thought this _______, created by the opinion polls, Ⓑ

may have cost Labour the election.

26 What is the most appropriate title of the passage above?

How Opinion Polls Might Influence the Results of Elections➀ 

Why Opinion Polls are Sometimes Inaccurate➁ 

Why People Abstain in Elections➂ 

The Range of Factors Influencing Voting Behavior➃ 

How the Mass Media Might Influence Political Attitudes➄ 

27 Which pair best fits and ?Ⓐ Ⓑ

with respect to consolation ➀ ― 

according to satisfaction➁ ― 

irrespective of alienation ➂ ― 

with reference to compensation➃ ― 

regardless of complacency➄ ― 

[28-29] The merging of regional differences through the 

mixture of the population has been promoted by a certain 

mobility that characterizes the American people. It has 

been said that it is unusual to find adult Americans living 

in the place in which they were born, and while this is an 

obvious exaggeration, it is nevertheless true that change of 

_______ is distinctly common. The very extensiveness of Ⓐ

the country, moreover, tends to create an attitude of mind 

that may almost be said to diminish space. Americans are 

so accustomed to distance that they disregard it. Witness 

the willingness of the westerner to make trips of five 

hundred or a thousand miles upon slight occasions, or to 

drive across the continent for a vacation. In the past 

Americans have had to reckon with the influence of 

Webster's spelling book and Lindley Murray's grammar, 

and at all times public education in America has been a 

standardizing influence. We respect in language the 

authority of those who are supposed to know; it is part of 

our faith in specialists, whether in surgeons or "publicity 

experts." And _______.Ⓑ

28 Which expression may not replace ?Ⓐ

abode ➀ habitation ➁ dwelling➂ 

residence ➃ abatement➄ 

29 Which best completes ?Ⓑ

the common pronunciation approximates to that of the ➀ 

well educated class of London and its vicinity

the uniformity of American English seems to have been ➁ 

something generally recognized at the beginning of the 

nineteenth century

we must not forget the American instinct of conformity ➂ 

and the fact that they readily accept standardization in 

linguistic matters as in houses, automobiles, and other 

things

as a nation we have paid more attention to the ➃ 

Americanization process than to the self-maintenance 

process

these different cultural settings are reflected in the ➄ 

subsequent history of the English language in the region
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[30-31] Acceptance or rejection of any innovation will vary 

from society to society, as well as from person to person 

within a given society. The more open a society is and the 

more alternative ways it has of explaining phenomena, the 

more likelihood there is that it will assimilate new elements 

of culture. The acceptance of a new element, _______ it is Ⓐ

introduced by invention, discovery, or diffusion, is always 

uneven. It depends on the perceptions, predispositions, and 

values of the recipient peoples. It is not really "a culture" 

that accepts or rejects changes, but rather the individual 

people who share the common culture. So in speaking of 

culture change we are really speaking about a series of 

episodes and effects stemming from the experiences of 

individual human beings. Only later do the results become 

_______ that affect the entire society and its culture.Ⓑ

30 Which pair best fits and ?Ⓐ Ⓑ

how standards ➀ ― 

whether norms➁ ― 

what conventions ➂ ― 

which customs➃ ― 

if special➄ ― 

31 What is the main topic of the passage above?

Costs of change➀ 

Invention, discovery, or diffusion➁ 

Factors affecting the acceptance of innovations➂ 

Failure to accept innovation➃ 

Evolution and revolution➄ 

[32-34] The major philosophical issue affecting treatment of 

the gifted is whether education should be aimed at elevating 

the masses or at nurturing those who evidence the greatest 

potential. The issue has often been posed as a dichotomy 

between _______ and democratic equality. Another Ⓐ

perspective is that the democratic practice of educating 

equally individuals of unequal intelligence that is, having ― 

the same expectations and standards for the bright and the 

dull is a false conception of equality that leads to ― Ⓑ

_______ and wasted talent. True equality consists rather in 

providing each individual "_______" (Tsuin-chen, 1961). Ⓒ

Throughout history the prevailing philosophy with regard to 

equality of opportunity has been manifested in the treatment 

of gifted individuals.

 What society values has also helped determine the 

definition and identification of gifted individuals over time. 

When visual arts have been prized for example, in ― 

Renaissance Europe society has sought out and supported ― 

the artistically gifted. Acute needs based on emergencies 

such as war or famine, and chronic needs existing over 

time, have also influenced society's idenfication of gifted 

individuals. The warrior society of ancient Sparta, for 

instance, required and hence nurtured individuals gifted 

with military prowess.

32 Choose a statement that may be inferred from the 

passage above.

Parents of gifted children are often overly assertive ➀ 

individuals.

Gifted individuals should be given an education according ➁ 

to their ability.

The definition of gifted individuals has stayed the same ➂ 

over time.

Parents of gifted children should provide stimulating ➃ 

materials in the home.

Economic differences may affect child-rearing practices.➄ 

33 Which pair best fits and ?Ⓐ Ⓑ

superiority competence➀ ― 

clique achievement➁ ― 

dregs ordinariness➂ ― 

elitism mediocrity➃ ― 

extract skillfulness➄ ― 

34 Which best suits the quote in ?Ⓒ

an equal opportunity to profit by education according to ➀ 

his intelligence

specialized resources and intensive instructional efforts➁ 

a supportive home environment as well as personal ➂ 

commitment and excellent teaching

stimulating materials in the home➃ 

more elaborate speech, explanation, reasoning, praise, and ➄ 

specific feedback

[35-37] "Lift up your heads," Robert Winthrop told the crowd 

many years ago at the unveiling of a statue of that great 

hero of American independence Benjamin Franklin, "and 

look at the image of a man who rose from nothing, who 

owed nothing to parentage or patronage, who enjoyed no 

advantages of early education which are not open a ― 

hundredfold open to yourselves, who performed the most ― 

_______ services in the businesses in which his early life Ⓐ

was employed, but who lived to stand before Kings, and 

died to leave a name which the world will never forget."

 In this book, I want to convince you that these kinds of 

personal explanations of success don't work. People don't 

rise from nothing. We do owe something to parentage and 

patronage. The people who stand before Kings may look like 

they did it all by themselves. But _______ they are Ⓑ

invariably the beneficiaries of hidden advantages and 

extraordinary opportunities and cultural legacies that allow 

them to learn and work hard and make sense of the world 

in ways others cannot. It makes a difference where and 

when we grew up. The culture we belong to and the 

legacies passed down by our forebears shape the patterns 

of our achievement in ways we cannot begin to imagine. It's 

not enough to ask what successful people are like, Ⓒ

_______. It is only by asking _______ that we can unravel  Ⓓ

the logic behind who succeeds and who doesn't.
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35 Which one of the following expressions best fits ?Ⓐ

valuable ➀ lavish ➁ menial➂ 

premium ➃ lucrative➄ 

36 Which pair best fits and ?Ⓑ Ⓒ

indeed at any cost➀ ― 

in fact in other words➁ ― 

thus for example➂ ― 

nevertheless on the other hand➃ ― 

surprisingly in the long run➄ ― 

37 Based on the overall argument of the writer, which best 

completes ?Ⓓ

what special talents they are born with➀ 

where they are from➁ 

how intelligent they are➂ 

what kind of life styles they have➃ 

what kinds of personalities they have➄ 

[38-40] It has long been acknowledged that people differ in 

their ability to tolerate stress. One of these differences 

pertains to personality. One classification is Type A versus 

Type B personalities. Type A people walk, eat, and talk 

rapidly; they are aggressive and competitive and constantly 

feel under time pressure. Type B people are less concerned 

about time; they play for fun, not to win; and they can 

relax without guilt. Type A people have a higher standing 

pulse rate than Type B people and are twice as likely to 

develop heart disease. Wright (1988) concluded that Type A 

people have a high, possibly _______ need for Ⓐ

achievement. They experience early success (no later than 

adolescence), which seems to breed a greater than usual 

sense of hope that striving efforts will eventually pay off. 

Type A individual cannot control themselves when exposed 

to work-related stimuli. In assessing the _______ of Type Ⓑ

A individuals to feel stress from work, Wright said, "What 

is needed are ways of training ourselves and others to run 

the race of life like a marathon and not series of 100-yard 

dashes."

38 Which expression would best fit ?Ⓐ

capricious ➀ thwarted ➁ sudden➂ 

insatiable ➃ gullible➄ 

39 Which expression would best fit ?Ⓑ

propriety➀ proclivity ➁ dejection➂ 

apathy ➃ volition➄ 

40 Choose the best stress-management tip that the passage 

suggests for Type A personalities.

Take control of your environment.➀ 

Connect with others.➁ 

Reframe problems.➂ 

Slow down your pace.➃ 

Focus on the positive.➄ 

[41-50] Select the most appropriate word from the box blow. 

A word can be used only once.

adjudicate ➀      anonymous ➁  circumspect ➂ 

concomitant➃      culprit ➄          decent ➅ 

evade ➆      incumbent➇  inebriated ➈ 

intermittent ➉      irate ⑪          negligible⑫ 

inverse ⑬      precedence ⑭  prevalence ⑮ 

salutary⑯      staggering ⑰  synchronous ⑱ 

tenacious ⑲      unanimous⑳ 

41 The ensuing years will witness how the courts _______ 

the complicated interplay among the societal goals that 

surround employment testing.

42 Letters of recommendation are one of the least accurate 

forecasters of job performance. Some people even make 

recommendations that have a(n) _______ relationship with 

the criterion.

43 The _______ individual may be led into aggression by 

both a biased interpretation of the situation and increased 

confidence in being able to cope by largely physical means.

44 Confidentiality involves decisions about who will have 

access to research data, how records will be maintained, and 

whether participants will  be _______.

45 What causes inflation? In almost all cases of large or 

persistent inflation, the _______ is growth in the quantity of 

money.

46 At the core of any change effort is the desire to bring 

about change. However, change introduces ambiguity into 

the environment, with the _______ effects of less 

predictability and control.

47 The differences in living standards around the world are 

_______. In 2003, the average American had an income of 

about $37,500 and the average Nigerian earned $900.

48 The employee's job performance is in part influenced by 

the customer. An employee may respond differently to a(n) 

_______ customer and to a pleasant one.

49 _______ interaction occurs when team members 

communicate at the same time, as in chat sessions or video 

conferencing.

50 Team members must have high awareness of themselves 

as a team. Each member sees the team's success as taking 

_______ over individual performance.


